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run_13101012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
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run_13101012 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Tue Apr 10 06:10:59 2012
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run_13101012 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
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run_13101012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13101012 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
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run_13101012 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
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run_13101012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13101012 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
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run_13101012 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13101012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
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run_13101012 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
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run_13101012 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13101012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
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run_13101012 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
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run_13101012 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13101012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
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run_13101012 FGT_RMS_ 1,Timebin=2,Disc=5,asmb=5DA
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[CADC RMS for RDO=1,ARM=4,APV=0_}
200

—

180 [&

160

RMS (ADC-ped)

140

120

100

80

60

40

20

°'I1IIH'I nr-|1|[|-|1||rr|11|[r|1

0

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=1 }

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

RMS (ADC-ped)

i mo rrr
100 120
APV channel

450
400

350 =

RMS (ADC-ped)

300
250
200
150 =

100 p——

50

® 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

50O [l v cieeei i e SEEEEE TR EER s

RMS (ADC-ped)

i
120
APV channel




run_13101012 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Tue Apr 10 06:09:10 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

in=2,Disc=
29 2012

imeb
:10:

Tue Apr 10 06

run_13101012_FGT_MPV_1,T

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13101012 FGT_RMS_ 1,Timebin=2,Disc=5,asmb=5DA
Tue Apr 10 06:11:03 2012

[ADC RMS for RDO=1,ARM=4,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=4,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101012 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB

Tue Apr 10 06:09:11 2012

ADC for FGT RDO=1,ARM=4,APV=12 _§

ADC-ped

3000 4000
raw ADC

2000

ADC for FGT RDO=1ARM=4,APV=13 _§

3000 4000
raw ADC

=4APV=14 |

>
<]
Is]
E)
o
o)
3
o
<3
¢}
s
3
| B

ADC-ped

1
3000 40(
raw ADC

S}

[ ADC for FGT RDO=1,ARM=4,APV=15

ADC-ped

4000

3000
raw ADC

ADC for FGT RDO=1,ARM=4,APV=16 _§

ADC-ped

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=12_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

of—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=13 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=4,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Tue Apr 10 06:10:29 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Apr 10 06:11:03 2012

[ADC RMS for RDO=1,ARM=4,APV=12__}

h—
350

300 [=

RMS (ADC-ped)

250
200 f=
150

100 |

50

= . . . . ;
0 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=13 "}

400

350

RMS (ADC-ped)

300

250

200

150

100

50

°11|r|1 Ir|1HI]1HI]IHI]IH'I]HI1IITI1|H

1
9 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=14 "}

= 220

2

g

I 200

[a}

< 180 =

2

& 160
140 f=
120 =

100 B=
80
60
40 E

20

0

= F— 5
@ o g
3 BOD [ e = ee e n e e B R P TP PR
4] —
a [—
< =
@ =
= —
z [—
=
r—
—
= i
0 120

APV channel

| ADC RMS for RDO=1,ARM=4,APV=16 }

RMS (ADC-ped)

i
120
APV channel




run_13101012 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB

Tue Apr 10 06:09:15 2012

ADC for FGT RDO=1ARM=4,APV=17 _§

ADC-ped

3000 4000

raw ADC

ADC for FGT RDO=1ARM=4,APV=18 _§

ADC-ped

0 1000 2000 3000 40(
raw ADC

>
<]
Is]
E)
o
o)
3
o
<3
¢}
s
3
| B

=4APV=19__ |

= ADC-ped

Q

1
1000 2000 3000 40(
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=20

o
o
[
Q
a
<
10
il
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=1,ARM=4,APV=21 _§
k3
o
o
Q
a
<

0 1000 2000 3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=4,APV=18 "}

4000

APV channel

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
i
=
0

[ ADC for FGT RDO=1,ARM=4,APV=19 }

4000

1
120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENRTERIAGNATGRAARNAGRARRIATENATRNATENAG]

[[ADC for FGT

Py
]

O=1,ARM=4,APV=20 }

4000

80

APV channel

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40

[ ADC for FGT RDO=1,ARM=4,APV=21 }

4000

80

100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... 2 E...4 .3 N d Ny

10

10°

10

10°

10°

10"

10

10

10

10"




run_13101012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB

Tue Apr 10 06:10:30 2012

[ADC MPV for RDO=1ARM=4,APV=17

MPV (ADC-ped)

-500

i i
80 100 120

[ ADC MPV for RDO=1,ARM=4,APV=18 "}

MPV (ADC-ped)

-500

20

40

APV channel

[ADC MPV for RDO=1,ARM=4,APV=19 _}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

20

40

80 100 120
APV channel

i i
80 100 120

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

20

0

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=21 "}

MPV (ADC-ped)

1500

1000

500

-500

20

40

i
80 100 120
APV channel

. .
— . .
1 1 1 Il Il
Q 20. 40 A0 20 100, 120

APV channel




run_13101012 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Apr 10 06:11:05 2012

[ADC RMS for RDO=1,ARM=4,APV=17 _}
800

700

—

600 [

RMS (ADC-ped)

H
120
APV channel

RMS (ADC-ped)

1
120
APV channel

16

1.4

RMS (ADC-ped)

12

=
1=
08
06
04

0.2

. . i
0 20 40 60 80 100 120

APV channel

400
350

300 |-

RMS (ADC-ped)

250 £
200
150

100

50

0
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=21 "}

RMS (ADC-ped)

i
120
APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Tue Apr 10 06:09:18 2012

[ADC for FGT RDO=2,ARM=0,APV=0 }

ADC-ped

3000 4000
raw ADC

2000

[ADC for FGT RDO=2,ARM=0,APV=1 }

ADC-ped

2000

1000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=2 }

ADC-ped

1
3000 40(
raw ADC

1 1
1000 2000

S}

[ADC for FGT RDO=2,ARM=0,APV=3 }

ADC-ped

Syt
2000

3000 4000
raw ADC

0 1000

ADC for FGT RDO=2,ARM=0,APV=4 l

ADC-ped

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=0_}

= 4000 p—
] =
& =

Q 3500 f—
< =

3000 P=—
=

2500 =
=

2000 =
=

1500 =

1000 =
=
=

500 =
=
=

0=

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=1 "}
= 4000 p—
] = . . . . .
5 =
8 3500 = ---{{--f}-F|-1--
< =
3000 P=—---{{--f}-}|-1--
2500 - - - {{-- -} |- -1--
=
2000 = ---{1--}f-F|--1--
=
1500 === -4 -t} - 1= -
=
1000 f=—---{{--tp-F |- 1--
=
500 ==~ {{--tf-I -1
=
Of=—---{1-“t}-F|-1--
= . . . . i . . . i . . . i . . . i . . . i
0 2 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
=
APV channel
[ADC for FGT RDO=2,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=
< =
3000 =
2500 =
2000 f=
=
1500 =
1000 p=
=
=
500 =
=
0=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. L s e S

10°

10"

10°

10"

10

10"

10

10°

10

10




run_13101012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 10 06:10:32 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13101012 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 10 06:11:06 2012

[CADC RMS for RDO=2,ARM=0,APV=0_ J

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=1 "}

140 P

120 f—=

RMS (ADC-ped)

100 f=
80 [r
60

a0 |

20

0

RMS (ADC-ped)

APV channel

120 [

100 [+

RMS (ADC-ped)

80 |
60 [+

40 [~

20

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=4 "}

RMS (ADC-ped)

20 40 60 80 100 120
APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Tue Apr 10 06:09:22 2012

[ADC for FGT RDO=2,ARM=0,APV=5 }

ADC-ped

[ 1000 2000 3000 4000
raw ADC

ADC-ped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=0,APV=7 }

ADC-ped

i i
2000 3000 40(
raw ADC

1
1000

S}

[ADC for FGT RDO=2,ARM=0,APV=8 }

10

3000 4000
raw ADC

0 1000 2000

ADC for FGT RDO=2,ARM=0,APV=9 l

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=0,APV=8
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 10 06:10:33 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC

Tue Apr 10 06:11:07 2012

[CADC RMS for RDO=2,ARM=0,APV=5__}

RMS (ADC-ped)

600 F=—
—
500
L
400 f
—
—
300 f—
[
L—
200 '_
—
100 [} . .
e i T L e
o IC i i I i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=6 }

RMS (ADC-ped)

600 f—

500

400

300

200

100

0

[ ADC RMS for RDO=2,ARM=0,APV=7 }

RMS (ADC-ped)

1
120
APV channel

i
120

[CADC RMS for RDO=2,ARM=0,APV=8__}

RMS (ADC-ped)

APV channel

700

600

500

300

200

1I1I|le[|||||||||]11II|IIHI

100

AT

i i
100 120

20 40 60 80

[ ADC RMS for RDO=2,ARM=0,APV=9 "}

RMS (ADC-ped)

APV channel

120
APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 10 06:09:25 2012

ADC for FGT RDO=2,ARM=0APV=12__§ [ ADC for FGT RDO=2,ARM=0,APV=12 |

ADC-ped

=

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=13 _§

ADC-ped

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=14 _§
—

ADC-ped

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0,APV=15

ADC-ped

10

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=16 _§

0 1000 2000 3000 4000
raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=2,ARM=0,APV=13

4000

APV channel

3500

ADC-ped

3000
2500
2000 =
1500
1000

500

0

[ ADC for FGT RDO=2,ARM=0,APV=14

4000

" 1
80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

[[ADC for FGT

Py
]

0=2,ARM=0,APV=15

4000

80 100 120
APV channel

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

=
=
=
i
=
=
=
—
=
=

0

Py
o/
(e]
N
p
Py
<]
=]
p
T
<]
I~
o)

[ ADC for FGT

4000

80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel



run_13101012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD

Tue Apr 10 06:10:34 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

i i
100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

20 40 60 80
APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

-500

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i
100 120

-500

20 40 60 80
APV channel

MPV (ADC-ped)

I
120

-500

[ ADC MPV for RDO=2,ARM=0,APV=16 }

20 40 60 80 100

APV channel

MPV (ADC-ped)

-500

120
APV channel

20 40 ) a0 100




run_13101012 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 10 06:11:08 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

400

350

RMS (ADC-ped)

300 :
250
200 :
150 i

100 =

50 L - e R T T REE Lt § nERRERE FoEs5cbdooadstonssaso0d R

1
120

® 0
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

120 f
—

100 [+

RMS (ADC-ped)

80 -
60 |-

40

20 [

" " " " " " " " " i " " " i " " " i " " " 1
9 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

RMS (ADC-ped)

APV channel

160 p—

140 p—

RMS (ADC-ped)

120 p—
100
80
60

40

20

0

| ADC RMS for RDO=2,ARM=0,APV=16 }

400 =

350

RMS (ADC-ped)

300
250
200

150

100

50 =

0 . . . . . . . . . i . . . i . . i . . . 1 AN=
120
APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD

Tue Apr 10 06:09:29 2012

ADC for FGT RDO=2,ARM=0,APV=17 _§

o
3
5
%)
a
<
10
1
0 1000 2000 3000 4000
raw ADC
[[_ADC for FGT RDO=2.ARM=0.APV=18 |
o
3
[
%)
a
<

3000 4000
raw ADC
[ Apcfor Fet RDO=2ARM=0,APV-19 ]
0 1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=2,ARM=0,APV=20 |
- -
3 B
[
3 .
a .
<
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=2,ARM=0,APV=21 |
o
3
[
o
a
<
1
s : :
1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17

= 4000 p—
] =
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
0 f—
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 "}
= 4000 p—
] = 0
5 =
8 3500 =~ -~ - poode =
< = 8
3000 f=— - - - - - pocgegsecsossanses =
2500 = +|- - - - - R R PP -
=
2000 = - - - - - R T -
= o
1500 f=r— |- - - - - e -
= 8
1000 = +{- - - - - R -
= 8
500 = -tk 203 =
= . 8
Of=—------ R e R -k
= . . i . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=19 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

[[ADC for FGT

Py
]

0=2,ARM=0,APV=20_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40 60 80
APV channel

1 H|'I1II'|HI'I

=
=
=
e
=
=
=
===
=
=

0

[ ADC for FGT RDO=2,ARM=0,APV=21 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40 60 80 120

APV channel

APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 10 06:10:35 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=19 |

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 10 06:11:09 2012

[ADC RMS for RDO=2,ARM=0,APV=17 _}

300 fm—=rr e T e e T rrer e e s R L e L R L e R

250 p——

RMS (ADC-ped)

200 |
150
100 e v e TR T REPREP R PR RERRETRE & 4 B RETPEPPEPRPETTS £ CREPEE e

50 P 1 PO I I AT - 1 | DU | I 1 ) A § D | I 1 1 N £ U : . .
[ d : : : d : |_
=
0

i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=18 "}

200 v e S

RMS (ADC-ped)

[
80 ——
60 f——

40

20

1
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=19 |

160 p—

140

RMS (ADC-ped)

120
100
80 p—
60

40 fr

20

N N N i
o 20
APV channel

250

200 [

RMS (ADC-ped)

150 |-

100 f

50

. H . ;
® 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=21 "}

b—
400
350

300

RMS (ADC-ped)

250
200
150

100 f=

50

120
APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 10 06:09:32 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2BC

2,asmb

iIsc=

2,D

IN=

b

Ime

Tue_Apr 10 06

run_13101012_FGT_MPV_1,T

10:37 2012

2ARM=LAPV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=1 }

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

ARM=1APV=2 "}

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2ARM=LAPV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=4 "}

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13101012 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 10 06:11:11 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC

Tue Apr 10 06:09:34 2012

[ADC for FGT RDO=2,ARM=1,APV=5 }

ADC-ped

3000 4000
raw ADC

[ 1000

ADC-ped

Pit
3000 4000
raw ADC

i |
0 1000 2000

[ADC for FGT RDO=2,ARM=1APV=7 }

ADC-ped

1
3000 40(
raw ADC

1 1
0 1000 2000

S}

[ADC for FGT RDO=2,ARM=1,APV=8 }

ADC-ped

3000 4000
raw ADC

0 1000

ADC for FGT RDO=2,ARM=1,APV=9 l

ADC-ped

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=1,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 10 06:10:37 2012

[ADC MPV for RDO=2,ARM=1,APV=5__}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 10 06:11:11 2012

[CADC RMS for RDO=2,ARM=1,APV=5__J

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=6 }

3 600 [

2

(6]

[a]

< 500

12}

=

'3
400
300 B
200

100

N

" " " " " n " " N " " " 1 " " N 1
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=7 }

RMS (ADC-ped)

i i
100 120
APV channel

400 =

350

RMS (ADC-ped)

300 i
250 x
200
150

100 [=

50 |

H . . ;
® 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

= =
2 %) | =—-c°000000000000205582000000000000005003000GR00 AhOG09588309000000ER000958530300000000000d2083030300000300000950420300000003000950330308P0000300
Q "
a —
< — : : 4 :
&= 89 | F=—pooooscescoses f peodhoonasasesosacaneaseoadhond 4 ;oa0a0ae0000000006h6008660095980900 0000 845000E00000000000000AE
=
e 5
80 : Fr{d----1 :
60 fre=et--| B Bl g
[
—
P e o R
[
2 |F=—=coo0000dHbooosoosadhonsnsscssssssososoosodbanacosnneasssoeeo0000db000005000000055000000db005600005000005555000d [|pooosEos0oac0sRBaG00dba00000
ol . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120

APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD

Tue Apr 10 06:09:37 2012

ADC for FGT RDO=2,ARM=1APV=12 _§

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=1APV=13 _§

I
3000 4000
raw ADC

1 1
0 1000 2000

ADC for FGT RDO=2,ARM=LAPV=14__§
—

ADC-ped

=
2

1
0 1000

2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=1,APV=15

ADC-ped

3000 4000
raw ADC

0 1000

2000

ADC for FGT RDO=2,ARM=1APV=16 _§

0 1000

3000 4000
raw ADC

[[ADC for FGT

RDO=2,ARM=1,APV=12 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R e A A

APV channel

[ ADC for FGT

RDO=2,ARM=1,APV=13 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

A A A

1
120
APV channel

[[ADC for FGT,

RDO=2,ARM=1,APV=14 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENRTERIAGNATGRAARNAGRARRIATENATENATENAG]

20 40 60 80
APV channel

[[ADC for FGT

Py
]

0=2,ARM=LAPV=15_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ ADC for FGT

RDO=2,ARM=1,APV=16 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

... .1 e d .. d

10°

10"

107

10

10°

10"

10

10




run_13101012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
Tue Apr 10 06:10:38 2012

[ADC MPV for RDO=2,ARM=LAPV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=1,APV=13 "}

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+ 2 g Bococacosasasasanacacadhoaascosasasasacacacoad TR

500 |- 555005050060500000GP055300000000050903C000P00005090360050000005034 foooocooooooocoooo0cooq fFoococooooooocoooo0oo0oq foooocooooooocoooooooog fococooo

0
- i
500 120,
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=14 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

I
=y 20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=16 }

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13101012 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Tue Apr 10 06:11:12 2012

[ADC RMS for RDO=2,ARM=LAPV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=14 "}

RMS (ADC-ped)

N N i
20 40 60 80 100 120
APV channel

[ADC RMS for RDO=2,ARM=LAPV=15__}

RMS (ADC-ped)

700

600

500

300

200

100

o 5 LA L R AR

i
120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=16 }

RMS (ADC-ped)

600

500

400

300

200

100

0

120
APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Tue Apr 10 06:09:41 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ Apcfor Fet RDO=2ARM=1APV=19 | [ ADC for FGT RDO=2,ARM=1,APV=19 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=20 | [ ADC for FGT RDO=2,ARM=1,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1APV=21 || [ ADC for FGT RDO=2,ARM=1,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD

Tue Apr 10 06:10:39 2012

[ADC MPV for RDO=2,ARM=LAPV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=1,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=1,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Tue Apr 10 06:11:12 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC

Tue Apr 10 06:09:42 2012

[ADC for FGT RDO=2,ARM=2,APV=0 }

ADC-ped

=

[ 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=1 }

ADC-ped

3000 4000
raw ADC

1000

2000

[ADC for FGT RDO=2,ARM=2,APV=2 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=3 }

ADC-ped

3000 4000
raw ADC

0 1000

2000

ADC for FGT RDO=2,ARM=2,APV=4 l

ADC-ped

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO

=2, ARM=2,APV=0_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L L L A LA L L] i

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO:

=2,ARM=2,APV=2 }

APV channel

- 4000 p—=
] =
o =
Q 3500 f=— - -1
% =
3000 f=—---{-
=
2500 f=—- - - {-
=
2000 fm—---1-
=
1500 f=—---1{-
1000 f=—---1-
=
500 f=— - - - {-
=
oE—--+1-
=
[ADC for FGT RDO=2,ARM=2,APV=3 }
- 4000 p—
5] =
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o =
=
=
0

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 10 06:10:39 2012

[ADC MPV for RDO=2,ARM=2,APV=0_}

MPV (ADC-ped)

-500

i i i i
20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=1 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=2 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 10 06:11:13 2012

[ADC RMS for RDO=2,ARM=2,APV=0__}

s I e

RMS (ADC-ped)

39 |E=—=c5c0c50500c0000000aPE005000005050055000054PAC00505C50500C5090000MPO0C0000000000000000003P00003090 r
200 - s R EE T

100 s e e R RLLET LR ST

120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=1 "}
400

350

300

RMS (ADC-ped)

250 [
200 f=

150

100

50 |2

1
120
APV channel

0

[ ADC RMS for RDO=2,ARM=2,APV=2 "}

350 =

300

RMS (ADC-ped)

250
200
150

100 =
h—

50

N T N i
o 20
APV channel

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=4 "}

RMS (ADC-ped)

i
120
APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 10 06:09:46 2012

[ADC for FGT RDO=2,ARM=2,APV=5 } [ ADC for FGT RDO=2,ARM=2,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=6 } [ ADC for FGT RDO=2,ARM=2,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=7 } [ ADC for FGT RDO=2,ARM=2,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=8 } [ ADC for FGT RDO=2,ARM=2,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=2,APV=9 } [ ADC for FGT RDO=2,ARM=2,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=3BC

3,asmb

iIsc=

2,D

IN=

b

Ime

Tue_Apr 10 06

run_13101012_FGT_MPV_1,T

10:40 2012

2,ARM=2,APV=5_ ]

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=2,APV=6 }

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=2,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2,ARM=2,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=2,APV=9 "}

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13101012 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 10 06:11:14 2012

[CADC RMS for RDO=2,ARM=2,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=2,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 10 06:09:47 2012

ADC for FGT RDO=2,ARM=2,APV=12

-ped

ADC-
s

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=13

ADC-ped

=

0 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=14
—

ADC-ped

=

1000 2000

3000 40(
raw ADC

ADC for FGT RDO=2,ARM=2,APV=15

ADC-ped

!

0 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=16

-ped

ADC-
ey

3000 40(
raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=12_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=2,ARM=2,APV=13 "}

4000

APV channel

3500

ADC-ped

3000

2500

2000

|1|r|]|r| |rm[|1|r|1m

1500

TITT

1000

500

0

°11II'|1TI |r|1|[

[ ADC for FGT RDO=2,ARM=2,APV=14 "}
4000

" 1
60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

ili ]lrn|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

[[ADC for FGT
4000

Py
]

0=2,ARM=2,APV=15_}

60 80 100 120
APV channel

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=2,ARM=2,APV=16 }
4000

60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 10 06:10:40 2012

[ADC MPV for RDO=2,ARM=2,APV=12_}

MPV (ADC-ped)

1500 [+
1000 [5

500 |+

0

-500

[ ADC MPV for RDO=2,ARM=2,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000

500

0

-500

[ ADC MPV for RDO=2,ARM=2,APV=14 |

MPV (ADC-ped)

1500

1000

500

0

-500

CATIT 'I'HTl"‘I'I'I'|'I'I'H'[1'I'

[ADC MPV for RDO=2,ARM=2,APV=15_}

MPV (ADC-ped)

1500 [+

1000 f+

[

-500

500 |-

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=16 }

MPV (ADC-ped)

1500

1000

500

0

-500

PRTTTT 'I'I1T]"‘I'I'I'|'I'I'I1'[1'r

20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 10 06:11:14 2012

[ADC RMS for RDO=2,ARM=2,APV=12__}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=2,APV=13 "}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=14 "}

RMS (ADC-ped)

i i i
4 60 80 100 120
APV channel

500 |-

400

RMS (ADC-ped)

300

200 |+

100

i
20 40 60 80 100 120
APV channel

5D [E=——=0000005505050000004p05050000505505050000

RMS (ADC-ped)
i

°'TI1'I'[II1'I'|I1'IT|1'I'I'IT£‘

300

200

100

APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 10 06:09:51 2012

ADC for FGT RDO=2,ARM=2,APV=17 _§

[[ADC for FGT RDO=2,ARM=2,APV=17_}
4000

-ped

3500

ADC-
ADC-ped

3000

1000 2000

3000
raw ADC

4000

ADC for FGT RDO=2,ARM=2,APV=18

1 1
0 1000 2000

; 5
3000 4000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=19
—

-ped

ADC.
P

1000 2000

3000 40(
raw ADC

ADC for FGT RDO=2,ARM=2,APV=20

-ped

ADC-
[y

0 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=21

ADC-ped

=

3000 40(
raw ADC

2500

2000

1500

1000

500

0

[ADC for FGT.

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[[ADC for FGT,

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

" 1
40 60 80 100 120
APV channel

[[ADC for FGT

3500

ADC-ped

3000

2500

2000

1500

1000

500
=

0

4000

APV channel

[ADCfor FGT

RDO=2,ARM=

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

F odeoogonad

IS
S
3
3
=3
S
=
=3

120
APV channel

;
:
;
;
3

© A AR A A

40 60 80 100 120
APV channel

10

10

10°

10"

10°

10"

10

10°

10

10"



run_13101012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 10 06:10:42 2012

[ADC MPV for RDO=2,ARM=2,APV=17 J

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+

1000 [+

500 |-

-500

i i
100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

1500

1000

500

-500

c"I'I'I'I'H'HT "'I'I'I"I'I'IT[H

20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 10 06:11:15 2012

[ADC RMS for RDO=2,ARM=2,APV=17 _}
600

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=18 '}

80

70

60

RMS (ADC-ped)

50

40 |

30 |k

20 |

10

=
P ! S S S E
0

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=19 |

RMS (ADC-ped)

[CADC RMS for RDO=2,ARM=2,APV=20 _}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=21 "}

500

400 |+

RMS (ADC-ped)

300 [
200 |-

100 [

APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Tue Apr 10 06:09:54 2012

[ADC for FGT RDO=2,ARM=3,APV=0 }

ADC-ped

4000

[ 1000

2000 3000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=1 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=2 }

ADC-ped

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=3 }

ADC-ped

3000 4000
raw ADC

0 1000

2000

ADC for FGT RDO=2,ARM=3,APV=4 l

0 1000

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=0_}

= 4000 p—
] = .
e = o
Q 3500 fm— - - - s p e e i B e
< =
3000 f=—------f----- 1 2 drdpqe=cz=-
= ]
2500 p=— - mpe o] Pl i el
= 8
2000 - - - opn- - SEELETERE L EELELE
= 5
1500 o s v e e fe e i- B o B
1000 P=— - - -t e e e : B B P
= 8
50 |==5c5000}oo000d seoco|bdbdbdsccsas
= 2
= 8
o= e EEFE oL EEEERE
= i
0 20
APV channel
[ ADC for FGT RDO=2,ARM=3,APV=1 }
= 4000 p—
] = 0
5 =
8 3500 = cofpoedrocqesss =0
< = 8
5000] =2 ELELELECEELELE SEELEEEE SEEL EELE =0
2500 e v s s m e e --
=
2000 fm—r s s e e m e e EEEE PR --
= o
1500 = --
=
1000 = --
=
500 = sogposqeses =0
= 8
o e e R SRR PR EEEE P ~--
= . . i . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=2 }

- 4000 p—=
] = . . . . .
g = 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
=
APV channel
[ADC for FGT RDO=2,ARM=3,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
0 p—
=
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000 e

500

0

120
APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Tue Apr 10 06:10:43 2012

[ADC MPV for RDO=2,ARM=3,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=2_}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Tue Apr 10 06:11:16 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}

RMS (ADC-ped)

350 [

300

250

200 [=

150

100

50

0%

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

RMS (ADC-ped)

=]
—
= 1
0 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

RMS (ADC-ped)

350

300

250

200

150 [

100

50

0

i
120
APV channel

RMS (ADC-ped)

300 f—

250

200

150

100

50 [

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

RMS (ADC-ped)

400

350 |

300 f=

250 [+

200

150

100

50 p—

0

120
APV channel



run_13101012 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Tue Apr 10 06:09:58 2012

[ADC for FGT RDO=2,ARM=3,APV=5 }

ADC-ped

3000 4000
raw ADC

[ 1000

2000

[ADC for FGT RDO=2,ARM=3,APV=6 }

ADC-ped

1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=7 }

ADC-ped

1
3000 40(
raw ADC

i i
1000 2000

S}

[ADC for FGT RDO=2,ARM=3,APV=8 }

ADC-ped

H

1000

3000 4000
raw ADC

2000

ADC for FGT RDO=2,ARM=3,APV=9 l

ADC-ped

3000 4000
raw ADC

[[ADC for FGT

RDO=2,ARM=3,APV=5_J

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ADC for FGT

RDO=2,ARM=3,APV=6

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

=
=
=
=
=
=
=
=
=
=
=
=
=
=
IS
0

APV channel

[CADC for FGT

RDO=2,ARM=3,APV=7

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

20 40 60 80
APV channel

[[ADC for FGT

Py
]

0=2,ARM=3,APV=8_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ADCfor FGT

RDO=2,ARM=3,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Tue Apr 10 06:10:44 2012

[ADC MPV for RDO=2,ARM=3,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Tue Apr 10 06:11:17 2012

[CADC RMS for RDO=2,ARM=3,APV=5__}

140

120

RMS (ADC-ped)

100

80

60

40

20

O-I-I'II'I'I-I' IREED]

i
120
APV channel

0

[ ADC RMS for RDO=2,ARM=3,APV=6 }

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=7 }

90

80

RMS (ADC-ped)

70

60

50

40

30

20

10

N N N i
o 20
APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=9 "}

—

90

80

70

RMS (ADC-ped)

60

50

40

30

20

10

° TII1|I1II]II'II[IHI|HI I!Ilﬂi:ﬁ#-ml I

APV channel




run_13101012 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Tue Apr 10 06:10:01 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD

Tue Apr 10 06:10:45 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Tue Apr 10 06:11:19 2012

[ADC RMS for RDO=2,ARM=3,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=3,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13101012 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Tue Apr 10 06:10:03 2012

ADC for FGT RDO=2,ARM=3,APV=17 _§

[[ADC for FGT RDO=2,ARM=3,APV=17_}

ADC-ped

[ 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3 APV=18

ADC-ped

i i
0 1000 2000

e
3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3 APV=19
—

ADC-ped

0 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3,APV=20

ADC-ped

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3 APV=21

ADC-ped

it By

0 1000 2000

3000 4000
raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© B R R A A

[ ADC for FGT RDO=2,ARM=3,APV=18

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=3,APV=19

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

" 1
60 80 100 120
APV channel

11r|]|r|1!r|1|[|nr|1|r|]|r|1|rn I|'I1II'|1 T

[[ADC for FGT

Py
]

0=2,ARM=3,APV=20

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

60 80 100 120
APV channel

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=2,ARM=3,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

3
SE--

APV channel

APV channel



run_13101012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
Tue Apr 10 06:10:45 2012

[ADC MPV for RDO=2,ARM=3,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Tue Apr 10 06:11:19 2012

[ADC RMS for RDO=2,ARM=3,APV=17 _}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=18 "}

RMS (ADC-ped)

600

500

T """""""""""" SRR eSS e SRR e

STHT[IT 1'I'I'I"I'THIHII]111'I'|'I

" " n " 1 " " " " " " " 1 " " " 1
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=19 }

RMS (ADC-ped)

700

600

500

400

300

200

100 [+

0

i
120

APV channel

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=21 "}

RMS (ADC-ped)

300 [

250

200

150 [

100

120
APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Tue Apr 10 06:10:06 2012

[ADC for FGT RDO=2,ARM=4,APV=0 } [ ADC for FGT RDO=2,ARM=4,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=1 } [ ADC for FGT RDO=2,ARM=4,APV=1 "}
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=2 } [ ADC for FGT RDO=2,ARM=4,APV=2 "}
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=3 } [ ADC for FGT RDO=2,ARM=4,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=4 } [ ADC for FGT RDO=2,ARM=4,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5BC

5,asmb

iIsc=

2,D

IN=

b

Ime

Tue_Apr 10 06

run_13101012_FGT_MPV_1,T

10:47 2012

2,ARM=4,APV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=1 |

ARM=4,APV:

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=2}

ARM=4,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2 ARM=4,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

=7}

ARM=4,APV:

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13101012 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Tue Apr 10 06:11:20 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC

Tue Apr 10 06:10:08 2012

[ADC for FGT RDO=2,ARM=4,APV=5 }

ADC-ped

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=4,APV=6 }

ADC-ped

St
3000 4000
raw ADC

i i
0 1000 2000

[ADC for FGT RDO=2,ARM=4,APV=7 }

ADC-ped

1
3000 40(
raw ADC

1 1
0 1000 2000

S}

[ADC for FGT RDO=2,ARM=4,APV=8 }

ADC-ped

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=4,APV=9 l

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=4,APV=5_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

b=

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=4,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o =
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
Tue Apr 10 06:10:47 2012

[ADC MPV for RDO=2,ARM=4,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ADC MPV for RDO=2,ARM=4,APV=7__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Tue Apr 10 06:11:20 2012

[CADC RMS for RDO=2,ARM=4,APV=5__J

500 =" e re e T e e T rrer e e s R L e L R L e T

RMS (ADC-ped)

i
120

[ ADC RMS for RDO=2,ARM=4,APV=6 }

200 =
180 [
160

RMS (ADC-ped)

140 f—
120 f—
100 f=
80
60

40
20

0

[ ADC RMS for RDO=2,ARM=4,APV=7 }

160

140

RMS (ADC-ped)

120

100

80

60

40 fr

20

0

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=9 "}

RMS (ADC-ped)

120
APV channel




run_13101012 FGT_ADC _1,Timebin=2,Disc=5,asmb=5CD
Tue Apr 10 06:10:11 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13101012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Tue Apr 10 06:10:48 2012

[ADC MPV for RDO=2,ARM=4,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=4,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=4,APV=14 "}

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=4,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101012 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Tue Apr 10 06:11:21 2012

[ADC RMS for RDO=2,ARM=4,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

| ADC RMS for RDO=2,ARM=4,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




